

# AYA Personal Investment Vitae as of April 2026

John Fourier [@John Fourier](#)

Gold member since January 2017



Location: United States

Gender: Male

Asset investment style: Quantitative fundamental analysis

Market capitalization:

**\$7,153,467** talents

Net overall return per annum:

**16.59%**

Virtual portfolio value:

**\$4,142,036** talents

AYA current rank order:

**#18**

Asset investment philosophy:

John Fourier trades U.S. stocks with the top #276 to #500 positive alpha signals.

*Andy Yeh Alpha*

## Top 10 profitable stock transactions since January 2020

Symbol	Company	Buy	Sell	Share Volume	Return (%)	Profit (\$)
<a href="#">SXTP</a>	<a href="#">60 Degrees Pharmaceut...</a>	\$0.15	\$1.34	129,826	<b>+793.33%</b>	<b>\$154,493</b>
<a href="#">BQ</a>	<a href="#">Boqii Holding Limited...</a>	\$0.36	\$3.36	45,111	<b>+833.33%</b>	<b>\$135,333</b>
<a href="#">BQ</a>	<a href="#">Boqii Holding Limited...</a>	\$0.36	\$3.36	45,111	<b>+833.33%</b>	<b>\$135,333</b>
<a href="#">VATE</a>	<a href="#">INNOVATE Corp. Common...</a>	\$0.53	\$4.14	36,743	<b>+681.13%</b>	<b>\$132,642</b>
<a href="#">SSNT</a>	<a href="#">SilverSun Technologe...</a>	\$18.59	\$130.48	857	<b>+601.88%</b>	<b>\$95,890</b>
<a href="#">RMBL</a>	<a href="#">RumbleOn Inc. Class B...</a>	\$0.36	\$7.95	9,925	<b>+2,108.33%</b>	<b>\$75,331</b>
<a href="#">AXSM</a>	<a href="#">Axsome Therapeutics I...</a>	\$4.60	\$31.75	1,441	<b>+590.22%</b>	<b>\$39,123</b>
<a href="#">LSCC</a>	<a href="#">Lattice Semiconductor...</a>	\$6.97	\$48.04	951	<b>+589.24%</b>	<b>\$39,058</b>
<a href="#">SQ</a>	<a href="#">Block Inc. Class A Co...</a>	\$14.50	\$99.54	457	<b>+586.48%</b>	<b>\$38,863</b>
<a href="#">FIVN</a>	<a href="#">Five9 Inc. Common Stock</a>	\$16.31	\$110.10	406	<b>+575.05%</b>	<b>\$38,079</b>

Sum \$884,145

*Andy Yeh Alpha*

## Top 10 current stock portfolio positions as of April 2026

Symbol	Company	Price	Position	Capitalization
<a href="#">MGRT</a>	<a href="#">Mega Fortune Company Limited Ordina...</a>	\$14.99	2,176	<b>\$32,618</b>
<a href="#">LUD</a>	<a href="#">Luda Technology Group Limited Ordin...</a>	\$4.45	4,393	<b>\$19,548</b>
<a href="#">RGC</a>	<a href="#">Regencell Bioscience Holdings Limit...</a>	\$30.80	552	<b>\$17,001</b>
<a href="#">VWAV</a>	<a href="#">VisionWave Holdings Inc. Common Stock</a>	\$5.66	2,966	<b>\$16,787</b>
<a href="#">LITE</a>	<a href="#">Lumentum Holdings Inc. Common Stock</a>	\$826.88	20	<b>\$16,537</b>
<a href="#">SGML</a>	<a href="#">Sigma Lithium Corporation Common Sh...</a>	\$14.37	1,139	<b>\$16,367</b>
<a href="#">PFAI</a>	<a href="#">Pinnacle Food Group Limited Class A...</a>	\$3.35	4,881	<b>\$16,351</b>
<a href="#">AGH</a>	<a href="#">Aureus Greenway Holdings Inc. Commo...</a>	\$3.92	4,147	<b>\$16,256</b>
<a href="#">AAPG</a>	<a href="#">Ascentage Pharma Group Internationa...</a>	\$27.32	589	<b>\$16,091</b>
<a href="#">TSEM</a>	<a href="#">Tower Semiconductor Ltd. Ordinary S...</a>	\$197.80	80	<b>\$15,824</b>
			Sum	\$183,380

## Top 20 investors

#1 - #5	#6 - #10	#11 - #15	#15 - #20
<a href="#">@Andy Yeh Alpha</a>	<a href="#">@Peter Prince</a>	<a href="#">@Fiona Sydney</a>	<a href="#">@James Campbell</a>
<a href="#">@Dan Rochefort</a>	<a href="#">@Charlene Vos</a>	<a href="#">@Rose Prince</a>	<a href="#">@Joseph Corr</a>
<a href="#">@Monica McNeil</a>	<a href="#">@Becky Berkman</a>	<a href="#">@Daisy Harvey</a>	<a href="#">@John Fourier</a>
<a href="#">@Laura Hermes</a>	<a href="#">@Chanel Holden</a>	<a href="#">@Olivia London</a>	<a href="#">@Allen</a>
<a href="#">@Jonah Whanau</a>	<a href="#">@Jacob Miramar</a>	<a href="#">@Apple Boston</a>	<a href="#">@Han</a>

*Andy Yeh Alpha*

## Top 20 influencers

#1 - #5	#6 - #10	#11 - #15	#15 - #20
<a href="#">@Andy Yeh Alpha</a>			

## Top 20 followers

#1 - #5	#6 - #10	#11 - #15	#15 - #20
<a href="#">@Bob Hessonwitz</a>	<a href="#">@Vincent Bonsai</a>	<a href="#">@Jack hsu</a>	<a href="#">@Apple</a>
<a href="#">@Will</a>	<a href="#">@Darren</a>	<a href="#">@AJ Yeh</a>	<a href="#">@ZimboDave</a>
<a href="#">@Luminoalgo</a>	<a href="#">@Sandra Martinazzison</a>	<a href="#">@MRCASH1991</a>	<a href="#">@Bloom789</a>
<a href="#">@Duke</a>	<a href="#">@Mo</a>	<a href="#">@Amy</a>	<a href="#">@Andy Cheung</a>
<a href="#">@TechBull22</a>	<a href="#">@Ru-Ting Yeh</a>	<a href="#">@Syl_will</a>	<a href="#">@George</a>

## Top 20 favorite stocks

#1 - #5	#6 - #10	#11 - #15	#15 - #20
<a href="#">\$ZIM</a>			

*Andy Yeh Alpha*